g 139 277 ABC oA B
sinx ] 427

)
®

3
@ ® 7

@

Wl ot w
IR TS




o 2™A C = 90° & C
sin A + cos A 9] 327

17 17 7
On ©@-3 O3

7 18
-3 O




C

@ tanA
@ sinB

S

3

_
17

15
17

@ sinA =
@ sinA + cos A

8
15

® tanB



th2 234 AHLBC, /BAC = 90° A
A o, cos x + siny o] g Fotoiet.




ot 194 AHLBC, /BAC = 90° A
A o, cosx +siny 9 g7

@
@

)
®

O | W
Ul Co | 1



6. o2 19H A cosx +siny & Ff= -5l

D V2 @ 22 ® V3 @ 2+3 ® 33



it g2 A7l Azt

a

ojn

o

QORI

cos A
tan A

Q@ @

STRSRSEESLSERS
f | |

@ sin A
© cosB
@ tanB




o 2o A /BAC = 90° o], A
BCLAHo|t}. /CAH = xgt & o,
tan x & gE2?

@
@

@
®

©)

| vt | o
| T | W
[N



o], BC 7} 12

<™

e A 747k ABC oA tan A

< 2197

=

9.

)

Nl
ol

@)
<

o

@ 13 ® 12 @ 1 ® 10

® 15






11.

® 10



1 _
12. 3 %1 47718 ABC Ol1A sin Ax

tan A 0] & Fotodet. (B, 0°< A <90°
)

cos A =




13. thg ZNA tan 15 9 gtol a+bV3 & W, a+b 9 ZH Fatolet,




14. tanA =1 < @, (1 +sinA)(1 - cosA) 9 g& F3lojat. (& 0° <
A<90°)

D L
-



oS 2 d Zol B = 90° ¢ 2747}

12, tanA == ¥ W, cosA + cos C & 3t2?

=W




4
16. cosA = = A o, sinA + tanA 9] F2? (T, A = oZFo|t})
23 27 12 17 24

O @5 @5 G Ok



12
17. ﬁn@M°—A)::i§°1EﬂtanA£ﬂ%k%?(Eh0°<f1<9m)

12 13 12
O = @ = ® = @ = ® 3






19.

tanA =

@

(ST

Ol

U ], cosA +sinA 9] g7 (F, 0°<A <90°)

@ ® @ ®

o] oo
ool w
co| ot

el IR



20. T O A cosA =
ol & Fofofet,

o]17, BH =3, AH =4 ¥ 1 , AC 9

4
5




21. o2 1A cosA = § o]al,
AH =12, BH=4+V3 ¢ @], AC 2] Zo]=?
B
!
AL ¢



22.

oo
S

T w4 9= A2

@ sin30° = @ cos30° = @ tan45° =1

@ cos4b° =

N —
1\3<|
2o

® tan60°

gl &



23.

sin 30° X cos 30° + tan 60° X cos 60° 2] Fre?

3V3 3V3
4 2 4



24. —2sin60° 4+ V3tan45° X tan 60° = A At 71-&2

D 3-+3 @?—3 @3—£

2
@ 0 ® 2



25. thg A9 ghe?

4 3 40 o
VB cos 60° + V3sin 45°cos30
V6 tan 60°
3+1 2vV3+2 542
o «/_2+ ® \/'2+ ® \/_2+
25 + 2 V5+3
@ 2Yo+2 G Y5+3

2 2




26. 129 49| g Fopn?
2 — 3sin 30° x tan 45° + 2sin 60° X cos 60°

1+ V2 ®1+«/§

0]
@

2 2
1+2v2 5 1+ V3
3 3




27. sin30°sin 60° + cos 30° cos 60° + cos 45° sin 45° 2] ZF-&?

1+ V3 ®1+2«/§ ®1+\/§
4

@
@

2 2
1+ V3 ®1+2«/§
4 2




28. t= J17°] AABC ol sinx 9] g F-stofzt,

A

D
/5/’
B< ave

~~4-"E -
~o--



29. o2 P 2 AABC oA sinx x cos x X tan x 9] gF2 F+5Fo]=t




30. o2 IHA sinx + cosy 9 &= Fotoit.




31.

® 3:2

Al WZ+e] 2719 H|7F 2 : 3« 40]Th izt
2t & o, sinA : tanA = ?
@ 2:3 ® V3:2



sin AcosA + sin A
cosZ A + cos A

32. tanA =3¢ o, o] Ft= ohd?

) ) ®1 @ 3 ® V3

sl
w
W =



